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ALG.e.1

Simplify each sum. Write answer in standard form. Circle your answer.

1) (70’ ~3n+2) + (70" + 2 + 82°) 2) (3a° + 4’ +.a) +(-4d’ - 8a° - 50)
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Simplify each difference.\. Rewrite as an adition problem.]Write answer in standard form. Circle
your answer. ' T
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Multiply binomials. Clearly show all steps. Simplify. Write answer in standard form. Circle
your answer.

1) (3x—\3}_(£x+8] 2) (5a+5)_(f£__8)
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Factor each completely. Clearly show your work. Circle your answer.
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Factor and solve complex polynomials, involving at least three factors. Factoe 00T
GCF-
Clearly show all steps. Factor each completely. Then solve. Circle solutions. ’
1) 5x° + 75x* +250x=0 ' 2) 45x° —5x* =0
5% (xT+1SX +50) =0 sx (A T-1) =0
: ¢ 8 - =0
Ex (x+io) (x+8) =0 5X C%w)(%x L

B =™
5Xx=0 Ario=0 X45=9 3 x+1=0
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3) 8x° —8x* +2x° =0 4) 83— 10x* = 32x +40=0 G ove VNG
ax3(4x T —4x +1)=0 2 (4x®-F x% - lbx +20) =0
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